Math 120 B _ : Quiz 3 (20 minutes) April 27, 2016

Name:

Answer the questions in the spaces provided. If you run out of room for an answer,
continue on the back of the page. Leave your answers in eract form or round to 4 decimal
places.

1. Let f(z) be a function with domain 0 <z <5 and range —6 <y < 6.

(a) Write a function g(z) so that the graph of y = f(g(x)) is the graph of y = f(z) shifted left by 3

G(x) =+ 3

(b) Write a function h(a:) so that the graph of y = h({f(z)) is the graph of y = f(x) shifted down by 7
units, .

h(x)=x—7

(¢) Compute the domain of £(3(z — 21)).
¥ O = 5(-2002 5
o< X-2( < /
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(d) Compute the range of 3 f(z) — 2
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o< iy £z
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